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Question: 1

Debbie Garza (dgj123) was recently hired by your company as an engineer to work on the TI-X
Prototype space Engine. At the same time, your company has implemented new security
requirements to protect intellectual property.

You have set up new groups, space, and page restrictions for the teams in Space Home. You
added Debbie to the engine-developers group; however, she still cannot see the TI-X Prototype
space Engine page, even though you can view and edit that page. Using the Exhibits below,
troubleshoot the problem.

Exhibits Pages in Space

= (=) Thars in Spaie Homeg
= (2 01 Jo2 Briciges
Ergine Prototypes
3 ABoiek
o TX Prototype Scacn Enging
Y Mgy
N TiZ Profotype Space Enging

12 Travol Partners

Space Pedimissions

Groups
AR Pages Biog I'a! A E 1 Mad Space
Wiy Add Dwisly Acd Delsle Add Delsie  Acd  Dedets  AsaDoleh Dwiats  Export  Admin
angine-tevekopes o © B e B & B8 & n =] B B B
orged-osion e 8 g o a8 o o 8 o 8 =} 0 o
T Tesinlon e e e o 0 & 0 & O - -] -] o
Page Restnctions on 01 Jet Bndges

www.CertKillers.net



ACP-200 Confluence Administrator Exam
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Select the most appropriate solution.

A. Add dgj123 to the tis-administrators group.

B. Add dgj123 as a viewer to the TI-X Prototype Space Engine page.

C. Add dgj 123 as an individual user in the Space Permissions with View and Page Add access.
D. Add engine-developers as a viewer to the 01 Jet Bridges page.

E. Add dgj 123 as an editor to the 01 Jet Bridges page.

Answer: B

Question: 2
A user has found pages that use a macro as shown below. EE

Contact us

Our postal address is:
Tl Company Address
The macro displays the organization's current address, and the user has noted it needs
updating.

Which two options could be providing this macro? (Choose two.)

A. a user macro
B. an add-on
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C.atheme

D. a formatting macro
E. a global configuration
F. CSS

Answers: A, B
Question: 3

Your team uses various macros to create dynamic content on its daily status page in
Confluence. Identify three limitations of content rendered by a macro. (Choose three.)

A. The content cannot be commented on via the inline comment tool.
B. The content can violate pager permission settings.

C. The content can differ visually when viewed in different browsers.
D. The content is not indexed.

E. The content cannot be versioned.

Answers: A, D, E
Question: 4
A project manager creates a page for every risk identified by the project.

Each page has a formatted table that tracks information about the risk, as illustrated below, but
management needs to see the risks and their related information in a single page.
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External Dependency for Project

Created by Douglas Adams, last modified just a moment ago

status " RESOLVED

Stakeholders Ford Prefect

Priority MEDIUM
Probability | Low |
Due date 125 Jun 2016
Owner Douglas Adams

Which method would you recommend to provide management with an overview of the risks,
their priority, and their probability?

A. Create a page with the Search Results macro that queries the risk pages and shows short
excerpts in the results.

B. Use the Page Include macro to aggregate all the content into one page.

C. Wrap the tables in the Page Properties macro and use the Page Properties Report Macro to
show all the information on a single page.

D. Wrap the tables in the Excerpt macro and use the Excerpt Include macro to collect all the
tables in one place.

Answer: C

Question: 5

A user states that a peer sent her an email. With a link to a Confluence page.

She says that when she clicked the link she was given, she received a message from Confluence
saying she needed to request access.

Which problem is the user encountering?
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